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BIERER (1 Gy / 91 B)
RAU-
= ERRET 5% 2- U % 3- PO % 4- MU
4B78B~7H78) 7B7B~10A8H) (10A8H~1RA7H)
1 127 == 11 126 = 15 124 £ 1.1 =+
2 136 == 1.1 138 £ 06 131 X 20 +
3 114 == 11 110 =+ 1.4 *? 110 =+ 1.1 *° -
4 146 =X 0.6 147 =+ 24 *? 145 + 2.1 *5 =+
5 159 =+ 15 *! 162 =+ 25 *¢ =+
6 109 =+ 0.6 *' 107 =+ 08 *7 s
7 115 = 1.1 *7 113 =+ 1.1 *3 112 =+ 1.1 *° -
8 140 = 0.6 *' 142 =+ 1.0 ** 136 £ 1.5 +
9 121 =+ 2.0 *! 124 =+ 00 ** 120 = 0.6 +
10 110 = 1.0 109 =+ 1.7 107 =+ 3.7 +

1. REHEE4A7B~7 A8 ATHS.
*2: HEHMEF7ATE~10A9BTHS.
*3:EBREHMIT7A8HE~10R 9HTHS,
* 4 FREHMIZ7 A8H~10A 8 BTHD,
*5: BREHEITI0A9IBE~1 A7THTHS,
6 BERIENEEICLYREYMIZTASHE~1 AIBTHS,
T ERIEOEZEBICLYRELSME7TA8B~1 A71BTHS,
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